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Which one of the following is called as valence electron in an atom ?

(A) No. of electrons in inner orbit

(B} No. of electrons in N shell

(C)  No. of electrons in outermost orbit
(D} No. of electrons in M shell

One mega ohm is equal to

(A) 1x10%

(B)

ohm.

1%10-8 (€) 1x10?

(D)

%103

Which factor does not depend on resistance of the conducter among the following factors ?

(A} Length

(B)

Material (C) Voltage

(1)

Temperature

Which material has the negative temperature co - efficient among the following ?

{A) Copper

The equivalent resistance of the parallel circuit is

{A) Greater

(B)

(B)

Aluminium (C) Tungsten

Smaller (€} Equal

(D)

(2]

Carbon

than the smallest single resistance.

IHalf

The total value of bwo resistance is 25 () when connected in series and 6 {} when connected
in paraliel. Find the value of two resistance,

(A) 104150

(B)

120,130 (C) 200,50

(D)

1942, 6 L2

Size of the wires can be measured normally by standard wire gauge. Which instrument
maust be used for accurate measurement of wire size ?

{A) Vernier calliper ({B)

Depth gauge  (C) Fuel gauge

()

Micro meter

The solder used for soldering consists of an alloy of tin and lead. What is the combination of
tin and lead of solder used for electrician solder ?

(A) Tin 50%, lead 50%
(C) Tin 35%, lead 65%

(B)  Tin 60%, lead 40%
() Tin 90%, lead 10%

What is the use of Fureka wire ?

(A) Rheostat

(B)

Heating element (C)}  Earth wire

()

Winding wire

[P.T.0.
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19. A permanent magnel moving coil instrument will read :
(A) Only AC guantities (B) Both AC and DC quantities
(C) Omly DC gquanbties (D) FPulsating gquantities

20. What is the colour of neutral in single phase or three phase circuits ?
(A) Black (B} Blue (C) Yellow (D) Green

21, Ome lamp can be controlled from five locations by using intermediate switches and two way
switches. How many numbers of intermediate switches and two way switches are required
to control a lamp from 5 positions ?

(A) Intermediate switches 2 and two way switches 3
(B) Intermediate switches 4 and two way switches 1
(C) Intermediate switches 1 and two way switches 4
(D) Intermediate switches 3 and two way switches 2

22, What will happen to the value of earth resistance if the length of the earth pipe is

increased ?
(A) Increase {B) Decrease
(C) Remain same (D) None of the above

23, What is the SWG 6f copper earth conductor if the maximum cireuil current is 15 A 2
(A) No. 14 (B) No, 10 (G)"No. 12 (D) No. 8

24, What is the thickness of copper plate used for earth electrade ?
(A} 63 mm (B) 3 mm (C) 3.3 mm (D} 315 mm

25. What is the number of poles if the speed is 3000 RPM and frequency is 50 Hz of an
alternator ?

(A) 4 (B) 2 (€ 6 (D) 8

26, Alternators are rated in L,
(A} KW (B) HP (C) KVA (D) KVAR

27. What is the working principle of a two winding transformer ?

(A) Self-induction (B)  Mutual mduction
(C) Pringiple of DC motor (D) Lenz's Law
A 5 20572014
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35. A 6 pole induction motor is connected to a 50 C/S supply. It is running at 970 rev/min.
What is the percentage slip ?

(A) 3% (By 4% (C) 5% (D} 6%

36. When motor is fed with reduced voltage, the motor draws excess current to drive the load.
When a motor is fed with an over voltage, how much current will the motor draw ?

(A) Low current (B) Normal current (C) Excess current (D) Zero current

37. Which is the correct method to change the direction of rotation of a permanent capacitor
motaor ?

(A) By interchanging the supply terminals.
(B) By interchanging auxiliary winding terminals.
(C) By interchanging capacitor terminals.

(D) By inlerchanging the rotor positian.

38.  What will happen to the universal motor when it is started without load ?
{A) It will not run () Run with very low speed
() Run with very high speed (D) Run with normal speed

39.  Oneof the main specifications of ceiling fanis sweep size. What does the sweep size represent
in ceiling fan 7

(A) Length of each blade

(B) Twice the length of one blade

(C)  The size of the fan housing

(D) Two times of the radius of the performed by the blade crcle

40. Which type of single phase motor has very high starting torque ?
(A) Permanent capacitor type (B) Double capacitor motor

(C) Universal motor (D) Capacitor start induction run motor

41.  Which part of the PMMC instrument produces eddy current damping ?

(A) Moving coil (B)  Ahmminum former
(C) Permanent magnet (D)  Soft iron eylindrical core
A 7 20572014
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54.

56.

57.

58,

39,

60.

Farthing is done for providing a path to ground

{A) High voltage (B) Leakage current (C) Ower current

The rating of fuse is expressed in terms of
(A) KVA (B) KVAR (C) Voltage

A delayved action cartridge fuse is for .

(A) Lighting circuits (B) Heating circuits
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(D} Circuil curvent

(D) Current

{C) Motor circuits (D) Fluorescent lamp circuit

In continuity test, short in an installation is indicated in a Megger by

(A) 500 MQ (B) Infinity M@}  (C) 1MQ (D)

A four pole 1200 RPM alternator will generaté emf at a frequency of

0 Mil

(A) 25 Hz (B) 40 Hz (€} 50Hz (D) 60 Hz

A lead acid cell is rechargeable because

(A) itisa wetcell (B) itselectralyte has high specific gravity

(€) its chemieal reaction s reversible (D) its electrolyie s Hy80,

The metal used for the control spring in an electrical instrumentis

(A} Steel (B) Nichrome

(C) Hard drawn copper (D) Phosphor bronze

The fixed coils of a dynamometer are used as _ in a watl meter,
(A) Deflecting coil (B)  Pressure coil

(C) Current coil (D) Both pressure and current coil

The maximum current that can pass through a 2 {1, 2 watt resistor will be :

(A) 1A @ 3A () 2A

() 4A

205/2014
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70.

71.

7

78.

73.

74.

735.

76.

In the case of pure metallic conductors, the resistance is _

(A) inversely proportional to the sp: resistance
(B} directly proportional to the cross sectional area
(C) directly proportional to the length

(D) none of the above

What percent is 40 paisa of ¥ 2 ?
(A} 20% (B) BO% (C) 50%
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(D) 10%

The length of a rectangle is four times its width. If the area is 100 m?, what is the length of

the rectangle ?

(A) 6m B 25m {C) 5m
HCEF of 18, 24 and 36 is :
A) 6 (B 72 © 36
3 i
(.];” "‘(L‘, i5!
100
(A) 2.65 (B) 263 (C) L0265

(D) 20m

(D) 18

(M) 0.265

The weight of 8 identical articles is 4.8 kg, What is the weight of 11 such articles ?

(A) 6kg (B) 6.6kg (C) 66 kg

(D) 06 kg

The ratio betweeny two quantities is 3 : 4. [f the first quantity is T 810 find the second.

(A) %3240 B) T 2430 (C) T 1080

8—4(3—2)+10+5 i5 :
S A B (BY (€) 6

(D) 2 1890

(D) 7

The average height of 8 boys in a class is 168 cm. When a ninth boy joins the group, the

average height becomes l6Z.cm. Tand the height of the ninth boy.
(A) 159 emy,50rirs {B) . 162 cm (C) 195 cm

11

(L} 176 em

205/2014
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| 88. Who among the following was not a member of the cabinet mission ?
(A) Lord Pelhic Lawrence (B) George Simon
(C) Stafford Cripps (D) AY. Alexander

89. Ayyankali was the founder of :
(A) Nair Service Society
(B) Sadhujara Paripalana Sangham
(C) Sree Narayana Dharma ["aripalana Yogam
(D) Atma Vidya Sangham

90. The longest river in India is :
(A} Brahmaputra (B) Bharathappuzha
(C) CGanga (D) MNarmada

91. Sree Narayana Guru attained Samadhi in :
(A) 1921 (B) 1925 ©) 1928 (D) 1929

92. The first lady president of indian National Congress was :
(A) Annie Besant (B) Indira Gandhi (C) Sarojini Naidu (D) Sonia Gandhi

93. Bhoodan Movement was organized by :
(A) Mahatma Gandhi (B) Jawaharlal Nehru
(C} Vinoba Bhave (D) Baba Amte

| 94. Which of the following is the work of V.T. Bhattathiripad ?
(A) Duravastha (B) Agnisakshi
(C) Mathilukal (D) Kanneerum Kinavum

95. Gandhiji stopped Non-Cooperation Movement in protest against :

(A) Malabar Rebellion (B) Chauri Chaura incident
(C) Jallianwala Bagh Massacre (D) Wagon Tragedy
A 13 205/2014

[P.T.0.]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

GET IT ON
A Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

